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FACULTY OF COMMERCE
B.Com. (First Year) (Second Semester) EXAMINATION
MARCH/APRIL, 2018
FUNDAMENTALS OF STATISTICS AND MATHS

Paper 11
(MCQ & Theory)
(Thursday, 22-3-2018) Time : 10.00 a.m. to 12.00 noon
Time—2 Hours Maximum Marks—40
N.B. .— (1 Attempt All questions.

(171) Figures to the right indicate full marks.

(zi1) Use of a simple non-programmable calculator is allowed.
(1) W\ YT grean

(7)) IR 3k YUl O i

(i)~ T T WAl AU EIE hARlel aTIuAY YETl Ss.

MCQ
1. Multiple Choice Questions : 10
agwf«:ﬁ R
(2) What will be the simple interest on Rs. 12,000 @ 3% p.a. for three
years ?
(a) 1080 (b) 1180
(0 1280 (d) None of these
TALEY. 3% TH 12,000 TN fo7 owie W = fodt 2
(&) 1080 (b) 1180
(0 1280 (d) =Rt ATE

P.T.O.
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(2 ) A—67—2018
(11) Base year price and Base year quantity is shown by :
(@ pygo b  p1ay

0  py¢r (d P19

MYR ool foraa oTfor ST aei=i HE iV YIEaH Sefaad 2

(@  ppaoy b pgq
(o0  pyny (d)  p1qo

(zz)  Index Number is ..........cccceiivivivineinianieniennnns type of average.
(a) Special (b)  Normal
(0 Quantity (d)  None of these
BRIy G s T TER e
(2) foem (b) ==
(0  F&IEH (d)  aden! A

(rv)  Find the Discount on Invoice Price of Rs. 5,000 @ 10%
(a) 450 (b 510
(o 500 (d) None of these

5,000 FFm= fRadren a¥qer 10% S0 g2 (3T8R) fodt e ?

(a) 450 (b) 510
(9 500 (d IRt &
2

(») A = | 3|. This is the example of :

4
(a) Square matrix (b)  Column matrix
(0 Row matrix (d)  All of these
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(v1)

(viz)

2
A — 3 %» ................................ % W 3:"%
4
() TE 9RO (b) WY TN
(9 Yot |OR (d) Il 9d
2 4]
If A = , then 2A matrix is :
3 5]
4 16 4 8
(a) (b)
9 25 6 10
4 8 | 5 9
(0 (d)
9 25 77
2 4
ST A A2 :|’ ™ 2A wuﬂ- ............................ .{.lg':'a.
3 5
4 16] 4 8
(a) (b)
9 25] 6 10
4 8 | 5 9
(0 (d)
9 25| 7 7

A—67—2018

In how many ways can the letter of the word “MARCH” be

arranged ?
(a) 220
(0 320

(b)) 120
(d) 420
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“MARCH” =1 visr=i 218R fordt 991 9&R ®HaIR Ear Adid ?

(@ 220 (b) 120
(0 320 (d 420
(vii)  Find the value of 7P, :

(& 840 (b) 850
(0 860 (d) 870
P, 9 I W

(@ 840 (b) 850
(0 860 (@ 870

(Ix) A bag contains 6 black, 4 red and 10 yellow balls. What is the
probability of getting a red ball at random in single draw ?

6 10

(a) 20 (b) 20
4 14

(0 20 (d 20

Tl SHE 6 T, 4 A SN0 10 dioe =g ofed. SHYd Tk <l i
FeA™ A <g Hewar= Ivead ®E g 7

6 10
(a) 20 (b) 20
4 14
(0 20 (d) 20

x What is the probability of drawing a king card in a single draw from
a pack of 52 cards ?

(a) s (b) 1

4 13 26
1 3

(¢ 1 (d) 1
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52 TATAT SANA THh S Heca™ ‘TS T Havars=t d9ead &

Ae ?
(a) el (b) S
13 26
(0 1 (d) %
4 4
Theory
2. Construct Fisher’s Ideal Index Numbers : 10
Commodity 2016 2017
Price Quantity Price Quantity
A 6 50 10 56
B 2 100 2 120
C 4 60 6 60
D 10 30 12 24
E 8 40 12 36
Tl Aifediaed fReRen siest fdens @@ :
aE 2016 2017
ferma RIE ferma RIE
A 6 50 10 56
B 2 100 2 120
C 4 60 6 60
D 10 30 12 24
E 8 40 12 36

P.T.O.
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If 10

2 9 5 1 6 3
Solve :
(1) A+ B
(1) 3A — 2B.
ST
7 5 6 5 3 3
A=1|4 8 3,B=1|3 7 2
2 9 5 1 6 3
Hrean
(1) A+ B
(1) 3A — 2B.
Or
(feram)

In a bag there are 9 green balls, 6 yellow and 5 blue balls. Find out the
probability that one ball will be yellow, 2 balls will be green in at random
drawn at 3 balls.

T i 9 fexa =g, 6 e <ig anfn 5 fos <ig omed @ IFYUIEH 09 =g Hed
3TAT, T <@g fUdedl, I < fetd STHdial A<l Al el

Find the value of : 10
7!
9!

(1) 9-5H!"
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qed el
7!
N (Y
9!
@ 9 )
Or
(feram)

Calculate the compound interest on the amount of Rs. 2,000 at 14% per
annum for 2% years.

2,000 TR S.EIEY. 149 T NG 2% IUd Thd@ AT hlal.
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